Converting Between L, kL, ML, and GL (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
) o s 5 §i i3 § 2 3 £
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0,-1 2 3 4 5 6 -7 -8 9
. Convert 0.0306 GL to kKL

Convert 69,790,000,000 L to ML

Convert 0.000000506 GL to L

Convert 0.00047 ML to kL

Convert 0.00573 GL to ML

Convert 50,960 kL to ML

Convert 971,500,000 L to kL

Convert 28,280,000,000,000 L to GL

Convert 0.06811 kL to L

Convert 2,566,000,000 L to ML
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Converting Between L, kL, ML, and GL (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0306 GL to kL

0.0306 GL X 10 X 10 X 10 X 10 X 10 X 10 = 30,600 kL.

Convert 69,790,000,000 L to ML

69,790,000,000L =-10+10+10+10+ 10+ 10 = 69,790 ML
Convert 0.000000506 GL to L

0.000000506 GLX 10X 10X 10X 10X 10X 10X 10X 10 x 10 = 506 L
Convert 0.00047 ML to kL

0.00047 ML X 10 X 10 X 10 = 0.47 kL

Convert 0.00573 GL to ML

0.00573GL x10x 10 x 10 = 5.73 ML

Convert 50,960 kL to ML

50,960kL - 10+ 10 =10 = 50.96 ML

Convert 971,500,000 L to kL

971,500,000 L - 10 =10 + 10 = 971,500 kL.

Convert 28,280,000,000,000 L to GL

28,280,000,000,000L -10+10+10+-10+-10=10+10+10+ 10 = 28,280 GL
Convert 0.06811 kL to L

0.06811 kL X 10X 10 x 10 = 68.11 L

Convert 2,566,000,000 L to ML

2,566,000,000L -10+-10+10+10+ 10+ 10 = 2566 ML
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